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Journalism & Mass Communication

Paper 1II

TARIAT AT SHEER
gyutent 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U1 3TRd. W YA dredl

AT : I YIAARhd THY 9IS (100) sguEE U9 foel ofed. Toish Teen g (2)

What device does cardioid represent

in video production ?

(A) Microphone

(B) Camera

(C) Stand

(D) Lights

Which of the following describes

external communications ?

(A) External communications keep
employees informed about the
company.

(B) External communications
always flow from the bottom to
the top.

(C) External communications are
always carried out using mass

media.

(D) External communications deal
with investors, clients,
customers

Which is the official state run press
agency of the People’s Republic of
China ?

(A) Asahi Shimbun

(B) Xinhua News Agency

(C) Renmin Ribao

(D) Chinese Central News Agency

‘Fifearse’ foefest dresmmdia shacd

IYHRIOMA 3Tl ?

(A) HEHRIGBHA

(B) &0

C) V=

(D) <EZH

AT H3e! sTe HATa TRk

U 3E ?

(A) ST TS R SHHAFAIHA
FHutarea fed=n e & Tl

(B) 9Ted WITIA @¥A=AT TA=AT
TWEE R B

(C) T8 T TgHT ST HIeTHIgR shed
ST

(D) STed HAIER [AAUERER, T&hNR,
el oy ger Sl
=9 9T SAfueRd U9 TS RivRT ?

(A) @l fere
(B) forgen =& TS
(C) I feaman

(D) IS ed S TS

[P.T.O.



The financial publics of a company
include :

(A) Investment analysts

(B) Employees of a bank

(C) Senior citizens

(D) Political journalist

What is the full form of DSLR ?
(A) Digital Single Lens Reflex
(B) Direct Smart Locus Reflector
(C) Direct Sun Light Reflector
(D) Digital Sequence Light Reflector

When an autorickshaw’s interior
is decorated with pictures cut out
from popular magazines it can be
called a case of what mass media
process ?

(A) Cultivation
(B) Representation
(C) Bricologe

(D) Reproduction

A general expression for the
tendency of global media industry
exporters to dominate media
consumption in developing countries
and impose their culture and other
values is termed as :

(A) Culture monopoly
(B) Cultural imperialism
(C) Cultivational culture

(D) Mediated culture

JUN -19219/11—C

TETE hurear Smfefe weameined
(ufscrarm) qaTdsht HIMET THET]
Bl ?

(A) AUk fascroe

(B) d% wH=m

(C) U3 AR

(D) TUS&hA IR

‘HTETAIR T O ® Y FwE ?

(A) fefsea fam o oees

(B) SRR e dind Roiaex

(C) SR I9 orze Ruciaex

(D) fefSea faga e RueE

fremr=an arrdier W Sew AU
AIfEeRIdIel BrET=s g 9 df feesheed
HSTEel STl degl TN HSAforvaretl haa

SAHIETH YishAT WU ?
(A) wfcessH
(B) fOE=sm
(C) SEIS
D) TureRH

AW Aeamaggr=al fafdyyA,
foreramsiter Semmeie Team arer famo
oTell ThITgheel ad9 famaasid

eEE A1 HIHHGRH] AGerel! Hhd]
00T Hed AT THAIU Hd Falleed
S ?

(A) Gipfaeh THITHHR

(B) WEhiden HHTSIER

(C) F&hchienyl

(D) TreAAwiTa Hehdt




10.

11.

Marathi daily ‘Dnyanprakash’

published which of the following

news and information ?

(1) Panchang or Almanac

(2) Market rates

(3) International news

(4) Government notifications

(A) (1) and (4) are correct

(B) (2) and (3) are correct

(C) All are correct

(D) (3) and (4) are correct

Which section of the Indian Penal

Code is about Sedition ?

(A) 124A

(B) 124B

(C) 130

(D) 498

What is an advertorial ?

(A) An advertisement in the form
of editorial content.

(B) An editorial written to condemn
advertisements

(C) An advertisement on the
editorial page

(D) An editorial about the editor
himself

The term ‘Phatic Communication’

refers to :

(A) Verbal or non-verbal communi-

cation that has a social function

rather than an informative

function

Communication during natural

disasters

(C) Verbal/Oral culture recorded in

Ethnographic studies

Communication with no media

involved

(B)

(D)

10.

11.

JUN - 19219/11—C

ISR EEIN M R R IR EEREDI A

TeiteTieh! shactt aTar ST wArfed

gy hell SRl ?

(1) 9=

(2) 9NN 49

(3) AT ST

(4) THN i

(A) (1) 3o (4) <R 3T

(B) (2) 3o (3) =sR 3Ted

(C) T =R 3ed

(D) (3) 3T (4) =R 3T

sefadiell FRaEEast aRdE <

dfgddial et HI0A SR 2

(A) 1243

(B) 1244

(C) 130

(D) 498

HeRTNIA BN HE ?

(A) HURHT SR &I hoial]
SIS

(B) Shfeust=n fore shevamesian fafeere
IR

(C) FUCHT UHER SO Sied

(D) TUCHER AT IR HUEH

‘wicw FgTRyH’ & 99 S Heidd

A ?

(A) wnfeger steran STeTfegeh TR STet

HIfEd A& HHTfSIeh Hod 3Tfeeh

e

Tafife UieT=™ @e SR

Yo7

TR TR HqfSd hetedl

wfger smfor Aifes Gehdl

A Holel AT

(B)

(®)

(D)

[P.T.O.



12.

13.

14.

Which of the following is not a
‘e-media gratification’ under uses
and gratification theory ?

(A) Security

(B) Cultural satisfaction
(C) Surveillance

(D) Filling time

Which of the following is often cited
as the main reason for the general
ineffectiveness of Press Council of
India in curbing wrong practices in
journalism ?

(A)

No representation for news-
papers owners

(B)

Complex and time consuming
process of hearing of cases

(C) Lack of power to take penal

action against defaulters

(D) Old and irrelevant standards of

code of conduct.

Credibility consists of which three
core elements ?

(A)

Expertise, motivation and
trustworthiness

(B) Expertise, power and

trustworthiness

(®)

Motivation, trustworthiness,
personality

(D)

Expertise, power, motivation

12.

13.

14.
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ST a s fag A Enr
TTCICTUhT hI - HILHT= HEs e
TaTfose B YRUIR e ?

(A) gfarad

(B) WiEhfdes Tmem™
(C) geouit
(D) 9o SR AT

IARIATTA TR FHRAAT 3B
TTATIT=AT Heufd 89 hifma=ar

[aV

FAAERY FTsg9aEe! qEierden! hiord
RV e foad Sd ?

(A) FAUS HISAHH TRERER irreea
T

(B) ThoT=A AT gfshan feRehe

9 doEs: 3TH0

(C) IHNIaESG SSIHh HRATE HITA

AfYHR T

e N A

(D) A=RHBAIA

3
‘fefafardt’ saea I qayd TR
e 38 ?
(A) qua, IR, fasemaamsa
(B) Squd, g, fasameams
(C) 9om, fasamaurEar, SfdH<d

(D) Jgva, &, Wom

A e A 9 IR




15.

16.

17.

18.

Which of the following is not a part
of an Advertising Agency ?

(A) Production Department

(B) Crisis Department

(C) Copy Department

(D) Public Relations Department

In 1961 Robert J. Lavidge and Gary
A. Steiner created which model that
suggests six steps to consumer
buying behavior ?

(A) AIDA model

(B) Innovation and adoption model
(C) Hierarchy of effects model
(D) Information-processing model

Which of the following is not
a television signal distribution
format ?

(A) DTH

(B) Terrestrial
(C) IP

(D) Satellite

If you have to record an interview
in a windy area, which of the
following microphones should one
use ?

(A)
(B)
()

Omnidirectional microphone
Microphone with wind filter

Microphone with mounting
stand

(D) Camera mounted microphone

15.

16.

17.

18.
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Teedeh! Haal Sedd HUAET AN
39 @ ?

(A) dreRE faum

(B) wrafad fawm

(C) =hrdt fawum

(D) e faum

1961 | T . ot 3mfor 1 W
Y AT TR BRET I el
I Afdeiedn Afea™ A9 hivd ?
(A) T=S] Hred

(B) #Afya sfor sraeia A

(C) 9RVMN TeTIeH Hied

(D) wfedi-wishan Areet

qeiatst wivar fafegsa far=a
faaeomen ®9ag T ?

(A) i3

(B) R

(C) .4

(D) Hewrsge

Ty I AEd SHAH SRl Hearer

(@IS HRUATHIAr qErads! SHIvTd
HIIShIhIA  STREe gl ?

(A) STHITERTA ARSI
(B) fas fheer U AR
(C) Eeald AT IhH

(D) HHAEA HAHh DA

[P.T.O.



19.

20.

21.

22.

What is the characteristic that
does not describe colour ?

(A) Hue
(B) Saturation
(C) Brightness

(D) Harmony

‘Relationship beyond banking’ is the
tagline of which of the following
Indian banks ?

(A) Bank of Baroda
(B) HDFC

(C) Axis

(D) Bank of India

Which one of the following is not
one of the four main types of
spokesperson ?

(A) Critics
(B) Celebrity endorsers
(C) PROs
(D) Brand Ambassadors

What can be the most appropriate
PR action in times of crisis for an
organisation ?

(A)

Do not allow media to report
on the incident

(B)

Wait silently until the crisis
tides over

(®)

Provide accurate information to
the media about the incident

Shield the stakeholders from
the incident

(D)

19.

20.

21.

22.
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YAt wodl TMe dfyren A 2
(A) & ()

(B) ¥oRH (HHT)

(C) SgeTE (ds)

(D) =T (Hw)

Rermeiy foate ste’, € Trele s
YA Sehd SoEe 3T ?

(A) % 3F TSI

(B) TA.E.THH

(C) g

(D) % 3ffw gfean

feeien Tttt Hael YaeRT ST TTehd
g ?

(A) wHtern

(B) Sfaferdt qeena

(C) SHHush AR

(D) FHHSTEd (S Hefaey)

TEE TR ey i wmeas
TeBaTd THYS SEUSh  FHal HIU

A ?

(A) HISTHTAT 249 dTdishd Il

Tsoli g hiol
(B) T=ygT duqdq T UEu

(C) weAfoeRll WegAM Avg 9 3Teg®
Hifect Q01

(D) ¥ feauey STHUFATIRE W&
TS




23.

24.

25.

26.

Which one of these is not a
parliamentary privilege ?

(A)

Freedom from arrest for all
parliamentarians

(B)

Expel any stranger from the
House

(C) Publication of expunged

portions of the proceedings

(D)

Order and arrest any accused
person

The ‘reputation’ of a company is :
(A)

Social evaluation in the long-
run

(B) Generic perception of the

organisation

(C) Short-term evaluation of an
organisation and its impact on

publics
(D)

Which of the following is not used
as a public relations tool ?

Image of the organisation

(A) Press Conference
(B) Press Visit
(C) Press Club

(D) Press Releases

Warana Wired Village Project was
an ICI project for agricultural
development in which Indian State ?

(A) Goa

(B) Madhya Pradesh
(C) Maharashtra
(D) Tamil Nadu

23.

24.

25.

26.
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qEIcTdeh] HIval SOeE fagrenfaeR

& ?

(A) Hd GEE TSEMI e Igd fHaum
A

o

sTfifad oadTen |eATqd At
HIGUATEl SfHhHR

(B)

(C) FE=A HAfGH BRI I

TRl YT Weh e STfEdR

AT THTH Theuard SR
Tl ARHR

TEEN o=t ‘T’ WS ki 2

(A) SrelerTes feshom AT JeamTdT

(B) FEAfTORI=T ARl gfteeh

(C) HET STey-aaidiel eI o
HegET HHSTerle aRumd

(D) TN HEEl i

JEIcTUhl RV SGUShiS HEH A

RS S AR ?

(A) THR TRwE

(B) amieX ¥e

(C) &R

(D) wfegeiT=eh

YITel GUROETe! ‘aRon arae fogerst’
B Hifedl HUTU-To-A Fehed  hIvTC
TS| qafaen e ?

(A) e
(B) HeARH
(C) e

(D) TS

(D)

[P.T.O.



27.

28.

29.

30.

Who of the following is a non-state
actor in development processes ?

(A) Public Universities

(B) Corporate House/Civil Society
(C) Government Departments

(D) Government Ministry

Corporate Social Responsibility is
governed by :

(A) Companies Act, 2013

(B) Trade and Merchandise Act,
1958

(C) Income Tax Act, 1961
(D) Profession Tax Act, 1975

In his book ‘Network Society’
Manual Castells claims that society
is passing from which age to which
age ?

(A)
(B)
(®)

The traditional to the modern
The literate to the visual

The
information

industrial to the

(D)

The textual to the audio-visual

What is a large size headline
across the entire page called ?

(A) Banner
(B) Deck
(C) Lead
(D) Header

27.

28.

29.

30.
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fasmd Ufwadial JA-IMTHRTT TTH

S ?

UNIESIREREERINIE)

(B) SITURE BSA/ATRT THIS

(C) g faum

(D) IEA T

‘TN GRTe Reffafaeid (Seamm

TS STET g ) | fEaHe sroren

I el Sd 2

(A) ST HEET, 2013 (HUAN e,
2013)

(B) 3 o1 =1 hret, 1958 (38
s w2, 1958)

(C) YT<iteh &IEel, 1961 (3hH Jo9
3R, 1961)

(D) =HEEE X HIEST, 1975 (WHIH
IH 3R, 1975)

HYTd Hhycaq=al ‘Jeas dHEe’

TR TS FHaedl Jaqd FHaeal Jalid

T ST Y Ted Iy ?
(A) IRARes 4 snyfTen

(B) W& d ¥

(C) eicafier O et

(D) UG d geReA

R STEUae Hefeal S I §Yvf TSI
TECiel 3T9dl el i WU ?
(A) IR

(B) €&

(C) e

(D) T

10



31.

32.

33.

Match the Scholars with the theories
they propounded :
List I
Mohandas Gandhi
Srinivas Melkote

(@)
®)
(c)
d)

Everett Rogers

Paulo Freire
List II

(z) Diffusion of Innovation

(i)

(iii)

(v) Basic needs

Which of the following is true ?

(A) (a)-G1), (b)), (c)-Gv), (d)-ii)

B) (a)-(i1), (b)-(v), (c)-G), (d)-(iD)

(©) (a)-Gv), (b)-GD), (c)-@), (d)-(iii)

D) (a)-), (b)), (c)-(i), (d)-(iv)

Which of the following is not a type

of validity ?

(A) Content validity

(B) Design validity

(C) Criterion-related validity

(D) Construct validity

Which of the following steps

generally is done before the other

Directed Social change
Pedagogy of oppressed

three in the Research Process ?
@)

(z1) Determining Sample Design

Preparing the Research Design

(zit) Developing the Hypothesis
(iv) Extensive Literature Survey
A) @)

(B) Gv)

(C) @)

(D) @)

31.

32.

33.
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o

O A 9 FHT FiadT
fgaa = Sed o
arar 1
(@) TETR™ e
(b) SifaTE Hesehle
(c) TeRe U
(d) =Tl Wl
et 11
(@) wEET YER
(i) fofdre fvm wmifse aReds
ARIUECIERN NI
(fv) qAYd LT
WIEATAIR! HIM 3Teh T8 ?
(A) (a)-D), (b)-@), (c)-Gv), (d)-(ii)
B) (a)-(i1), (b)-(iv), (c)>-1), (d)-(ii)
(C) (a)-Gv), (b)-G1), (e)-@), (d)-(ii)
D) (a)-@), (b)), (c)-Gii), (d)-(v)

YUk IVl JEdn YHR A 7
(wfqarern)
(B) fezmgq =faeier (mamawan)

(C) wmEear fialdes  wfagie
(FreroEeTaen)

(D) ww Hfaee (Fffaayar)

LN
a encicdl

o A A

(A) FI<< RSt

TeNeA Yihad qEcriehl Shivmm ol
AT ST A ?

() EENEA SAREET TR Lol

(f) A AEET I

(iti) TTétaes foaerfad ol

(iv) Hifgcar=n fawgd 3Treren

(A) @)

(B) Gv)

(C) @ir)

(D) @)

11

[P.T.O.



34.

35.

36.

317.

A magazine printed a survey in its
monthly issue and asked readers to
fill it out and send it in. Over 1000
readers did so. What is this type of
sample called ?

(A) A cluster sample

(B) A self-selected sample
(C) A stratified sample
(D) Simple random sample

World Radio Day is celebrated on
which day ?

(A) 19th November
(B) 30th April

(C) 13th February
(D) 8th December

What is the generic format of ‘Mann
Ki Baat’ programme on radio hosted
by P.M. Narendra Modi ?

(A) Talk

(B) Interview

(C) Drama

(D) Radio Feature
What is diegetic sound ?

(A) Sound created through the use
of an advanced digital system

(B) Music and narrative that
the audience hear and the

characters do not

Sound that is heard by the
characters in the fictional world
of the film

Sound created during the post-
production phase

(©)

(D)

34.

35.

36.

317.
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Teh! fracentfeteh o=a W=t 3Tshra
Teh JYATS Saelt o ekl o Jeae
T&A Ureauare foadl shefl. AR Th
EIR ST YISl 9&d Uredal.
STRMYSR=AT AT HE o ?

(A) FHfesh T

(B) w-faifaa T
(C) WRa Tq

(D) Hen R THA

STfer Ieen feod s feaeit s
Hhefl Sl ?

(A) 19 &

(B) 30 T

(C) 13 ®garl

(D) 8 feder

JA9eE g HGl F=A CHT & 9’ A
FOATON HEAHATET SMFRIqa e ROl
Bl ?

(A) w9oT (2Th)

(B) e[ (3%7])

(C) == (g

D) wureHes e (Wesh fF=R)
‘TSIdeR | el WRUN i ?

(A)

o~ ~c

ST TR Ioga

=Rl

RN U, ¥ehd ATRId A Y&
T, Tehard 319 WA ST oM

fasgerdia  snurgt  Siarda
TR IO &t

FeseronTR e0=Td dIR ShivaTd

SIS R

NN

(B)

(®)

(D)

12
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38. What is the last stage of insertion | 38. 2fafsge wEwEH=N =M <fedE
of an ad in TV programming TR 0T Hihadial ST Ul
called ? %I WU ?

(A) Verification (A) T (RRwHIE)

(B) Insertion (B) HHERT (3RH)

(C) Distribution (©) oo (fefeggem)

(D) Scheduling (D) STk vl (Fregfe)

39. The film ‘Gully Boy’ is based on the | 39. ‘7ecl &=’ 7 fasye H3ear {u
life of which rap artist ? AR oAl STHRAe 3T 2
(A) Swadesi (A) wRE
(B) Anime (B) ™
(C) Divine (C) Erar
(D) Raja Kumari (D) TS HAN

40. Who is credited with beginning the | 40. ‘T8’ W= Fed[ HI0AM 49 HIUTH
Rasa tradition ? feat Sma ?

(A) Abhinavagupta (A) SAfYTe=
(B) Anandavardhan (B) SFgaEH
(C) Bharat (C) wa

(D) Kalidasa (D) wHreie™

41. Which of the following Satyajit Ray | 41. feeiean qaiaite Hesia 3 e =hior
films was based on a story written e I TR I h9er STHTa
by Rabindranath Tagore ? qar ?

(A) Charulata (A) =mecdn
(B) Sadgati (B) &l
(C) Ganashatru (C) TR
(D) Aganthuk (D) ST
13 [P.T.O.



42.

43.

44.

45.

The news value ‘prominence’ is
said to be present in which kind of
story ?

(A) A story that will affect a large
number of people

(B) The story involves very well
known people

(C) If the story has one prominent
character

(D) If the story is on the front page
of the newspaper

Indian television underwent
another historical milestone in its
history in 2019. Which area of
television process did it impact ?

(A) Production
(B) Distribution
(C) Consolidation
(D) Amalgamation

Which committee in 1976
recommended that Akashwani and
Doordarshan be separated ?

(A) Joshi Committee

(B) Verghese Committee
(C) Chanda Committee
(D) Sengupta Committee

Which constitutional amendment
amended the Preamble to the
Constitution of India ?

(A) 41st Amendment
(B) 42nd Amendment
(C) 43rd Amendment
(D) 44th Amendment

42.

43.

44.

45.
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JHEd & SdHT Jod hocdl YRl

raHa foad ?

(A) ~T1 STaHEn gRom 3T lehTeR
BV 375l

(B) &l uiagy =uedl a1 drdHid

A
(C) 9l TF Yq@ U TEA

(D) STdHT IS Ufgedn IHTeR

AT THA

2019 Hell WRARA g Teoh Hgwaral
Wl S AT AR heean et
YRR geell ?

(A) UreR™
(B) fereom

(C) HgffereeH
(D) STHIETHIH

sTRTETeft i gYeeE A= faureE
S T 1976 Hiell H3ed A gied
%ol ?

(A) weft affet
(B) =iter |fHt
(C) =1
(D) S |

TR TS Tl 3ef¥rhd H3edl
FEAGEIgR GEkil HI0Ad STl ?

(A) 41t gE&I
(B) 427t g&&it
(C) 43+ gexit
(D) 444t gexdil

14



JUN - 19219/11—C

46. Internet Protocol Television allows | 46, Setie WRRIA fafeesmes syemen
()
one to do what ? T FE A 2
(A) Watch TV on computers and . ) NN
. (A) ZlellgST HiUleh arifur Hldgel Wi
mobile phones
qredl Al

(B) Watch HD TV

(C) Attach TV through wifi (B) Tl A Hred A

(D) Make a skype call through TV (C) I®EE el Siedr I

47. What is an advertisement that is (D) AFT| THET Ffd HE@ IAT
intended to create goodwill for an )

organisation called as ? 47. FEAfRT T for - shvaTeh e

(A) Corporation advertising MiHcled SeRE hiF Faga Sid 2

(B) Product advertising (A) SUNTHFEMEET (HARE) et

(C) Institutional advertising (B) SARART (Wew) feld

(D) Concept advertising (C) Fearesh (SReaHa) et

48. “Validity’ in quantitative research ) . -
) (D) GheddicH s (hIHR) SMed
refers to :

(A) Whether one can draw | 48. TEAHS HRNEAM ‘J&al’ WU ®E ?
meaningful and useful (A) fafere wrerTe ST freeie
inferences from scores on a .
particular instruments AT 3?211{0? I

THesvar=i R

(B) A characteristic or attribute of
an individual (B) TETEH e oHfaaey fean

(C) Use of interrelated set of T&TIT
constructs . .

(C) HeT™ HehoUTHH el AW

(D) Where researcher validates
the study by conducting pilot (D) A=A AT FET FAA
study BNICECERERE IR

15 [P.T.O.



49.

50.

51.

In research, how does quasi-
experiment stand in contrast to the
true experiment ?

(A) In terms of the degree of control
excercised by the researcher
over possibly confounding
variables

(B) In terms of the number of
control groups assigned by the
researcher to understand their

effect on experimental group

In terms of number of
participants identified by the
researcher for the experiment

(®)

(D)

In terms of degree of freedom
exercised by the researcher to
operationally define each of the
dependent and independent
variable

Which of the following is the most
appropriate data collection method
to carry a research on dynamics of
interactions of control over television
remote in a family set up in India ?

(A) Content Analysis
(B) Survey

(C) Observation

(D) Netnography

Daniel Learner’s ‘The Passing of
Traditional Society — Modernising
the Middle East’ is an influential
seminal work in the field of :

(A) Organisational Communication
(B) Developmental Communication
(C) International Communication

(D) Intercultural Communication

49.

50.

51.
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Ny, 9rEfite ggdtear gand

IBEEIRIRERCF el nr el ol i

(A) 99T FIIRR] I BIaTesar

(B) YAWFIETER Bom=41 TiHTom= 1%
HIOITR AT ST o= fAfad
T e faSe HeieehTe
AR w@ra=a

(C) TEANTHEY =Herit= HeieeR fAfy=a
Sl T&I

(D) TGS qAT ATATId FATAT FTHTcHR

SATEAT HITATHTLAT T ETRTAT
e =
TR SearHed gIestamoie Reeer
IERERECCLR I IC I I G ER ]
I IS JEIaAdeh! IV T2

TohoH Ugd gaifds 9rd TR ?

(A) v fagaoo

(B) ga&m

(C) Treqor

(D) ST

e o A g HifET St JEivEe
Rl — weafEm § fiea d=' ®
TS T 10 AR Te i eTe ?

(A) TG G
(B) fasrma wmom

(C) ST T

(D) SAREEHias AT

16
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52. When does a DTH operator does not | 52. ‘Seed TR A g’ A1 fFufar
violate the ruling on ‘Airwaves being Soatsd €A TH. HATRETHST IV
public property’ ? aerda g A 2 h
(A) Broadcasts its ‘own’ channels (A) SR EL.A.T=. e foAmaar

with 24/7 ads, self-promotional WA Ao aifen 9 ey
messages and teleshopping Rt A 3
spots unlicensed N 7 i . o
(B) SR ST goaafdia 3a (Feg 3fes
(B) Offers value added services AfeedE) wer i e
(C) Pop-up ads on screen occupying (C) SR qAfud ST¥rEr=a Ueedra] <
2/3rd space AT AT qIY-3TT SATfELrdi=
(D) Offers individual pay channels AT 39

53. What does Section 499 of the Indian (D) AT Wk Teisl U <ed F& <hil
Penal Code deal with ? ST
(A) Civil Defamation 53. WA ;:;1% gfgddia w9 499

. : HIM T ?
(B) Criminal Defamation
(A) TR AR
(C) Press Laws (B) TR W
(D) Right to Criticize (C) g HR

54. Which of the following words have (D) wHter wIvamE AfgERR
not been mentioned in the original | 54. yd™ SfaumEr=an Hos TErEdTd
Constitution of India ? UEITIh! HIVAT Hheddal HATT
(A) Contempt of Court et ?

(B) Parliamentary Privileges (A) —ATATAATET SATHT
: (B) GEeH fauiomfusr
(C) Official Secrets Act
(D) Social Equalit (C) MG YA hTEaT
oclal Bqualtty (D) HHTSeR FHM

55. In advertising what are trade mark, | 55 wfardigeiet MIR(e, A1, <,
prand name, logo, slogan, URL, ST, ‘SR Giftrfeh ST,
jingle, packaging, spokesperson and - . 7T o .
signage, ete. called ? ERSHSIEIUR H°7|°|‘\'|| [A-glehdl, . Al

FHE TRUCR 7
(A) Brand elements (A) TS e
(B) Brand value (B) YT oA
(C) Brand equity (C) Tz fasriea (sfe sfrere)
(D) Brand personality (D) STHHST A
17 [P.T.O.



56.

57.

What is the most popularly used
advertising trick of making the
audience think that the product is
better than its really is called ?

(A) Puffery

(B) Weasel claim
(C) Cognitive
(D) Unethical

Which of the following is not a
citation and referencing style
followed in academic writing ?

(A) APA
(B) MLA
(C) API

(D) IEEE

Directions (Q. Nos. 58 to 60) :

Castells wants to reserve the terms
“Social Movements” and “Networked
Movements” to the social movements
he sympathizes with. But the far-
right movements that have become
so strong in many parts of the world
also use network logic and are
social in many respects : they are
social groups reaching out to various
social groups in society, they use
networking as social systems online
and offline, they often more than
some other parties argue for social
welfare policies for national citizens
(and an exclusion of immigrants and

56.

57.
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3R FIUE WiAg Sfei=n = 3Tg
i SAGR 4l 81 Tele Scae & g
IR TRIERE TN 37T, 3T fo=ar
HE ARl ?

(A) STRTHEI™

(B) el <ral
(C) GIMTHH
(D) 3T-fder

Tenea 9 Sefues feaEmmen gewld
WeATeiesh! HIvRT SAFRe o Heufget
it @ A ?

(A) WU

(B) TH.UA.T.

(C) T.UI.3Ta.

(D) AEEE

o (W. &, 58 ° 60) :

e ‘guitee F@as!’ T
‘THASITN Seiedl Tt A1 Tl
holes T TeedA ISl ATIedl ST
HEHAT FIHYdl 3R, HIF S,
e 1 3 ISTAT Feodasl 3ed
1 WA g™ qa 0T Frarfsreha
ITRATT — & FHS T2 3T S THTSI e
TR FAENS RN Sred ¥, A
fOT ATReATzd § 219l STes fHtor shia,
TSI AR HHNS Thearvmdea
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refugees from the welfare state) and
so on. Neither the term social nor
the term network is automatically
politically progressive. What
distinguishes movements such as the
anti-austerity protests in Greece,
Spain and UK and other countries
and parties such as Syriza, Podemos
and the Labour Party under
corbyn, from Donald Trump’s white
supremacist supporters, Golden
Dawn, UKIP, the freedom party of
Austria, the Danish people’s party
Jobbik in Hungary, the Sweden
Democrats, the Finns Party, the Tea
Party and so on is that they struggle
with various means for an inclusive,
democratic form of socialism,
whereas the right-wing parties aim
at a discriminatory, xenophobic,
nationalist, Closed Society. In the
end the difference boils down to that
between democratic socialism for the
twenty-first century in order to
shape power in such a way that a
fair, just and participatory society
can be established. We may today
very well again have come to a
crossroads comparable to the one
that Rosa Luxemburg, citing
Friedrich Engles, identified 100
years ago : “Bourgeois Society
stands at the crossroads, either
transition to social or regression into
barbarism (Luxemburg 1916, 388)

JUN - 19219/11—C

HR0 ZaUaeT o Y SIReEqul TeA
gxard  (snfor geesft amfiw  snfo
Faifaar SeAmTRRT T w1 S’
3adrd) s, TES fopan fStes fororay’
1 N G SMNSTI GRAMH Bd Tl
Hlee T I TR ASSaER] THYw
Tiee €M, 9.%.3T4. 9., Siieania wHed
e, S droed e, R Siffern,
wWeTmea ehlwe, fihg ael, & U,
TR 3o W, T smfor .. Aefia
FehH-fatiet e smfur e,
TIQHE (07 Hifeel Ter el Ae
e 3TH1 i 7 fafae ArTiHT FeemmesTes,
AR ST SIS @IS olel Sawd.
T 2 gcAIe] 3Tdl Isrd fasrHE,

dedld. Taveel B ik 3A] i

TNHINET FHATSAARTIT Thfagrsan

QTAehTHIS! STRIT E 1 TR S0 T ~=A1H
T -veyardl SAfoT FEuEl HHTS=T o
g% TMRA. STUU el UhHST ST
STeEAER 3Tell 3Rl A=t gt ST
AT TRIEY TR SEed™ TIeR
Ege Fdfercted HIfeharehl 8% ITehd.
TIER AEAHATE HHS TR SIS
3 38, Th T RIS GHSERRS
THAY 38 W I U [AIITRS
i AR (& 1916, 388)
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58.

59.

60.

What according to Manuel Castells
makes social movements politically
progressive ?

(A) By creating network move-
ments along with social
movements

(B) By including the right wing

parties
©)

Inclusion of immigrants and
refugees into the welfare state

(D) Adding social systems online
and offline

Which factors in 21st century leads
to a fair, just and participatory
society ?

(A) A nationalist society

(B) Democratic social movement

online

(C) Welfare society with labour

parties offline
(D)

Which assumption has been
advanced by Castells while sharing
the techno-determinism of various
thinkers ?

(A) Concept of social media lacks an
engagement with social theories
that conceptualize socialism

Democratic socialism

(B) White supremacist supporters

will bring in techno-euphoria

(C) No welfare state progresses
with exclusion of off-line

movements

(D) Transition may not lead to

socialism

58.

59.

60.
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TG hLHTIN AR FBec!

TTehiagseal AT I B 2

(A) HHEISTR TesadiEed S At
O] (F2dh ) Tl TR Hiv]

(B) Afq IS qeel WeWrh ol

(C) TRl Amfiew enfor faffaar
HEIUERT] TIHaEd YTt ol

(D) 9IS AT Saied 3o
FAEART Sgd =

Teh{a|Ted] Y(AehTd 3T SEh1HD
9879, == 01 Rl oS 9aR
AE I

(A) TART F9=

(B) 3icATST <lh3Mal TS Tadacs

(C) SR Ye&I STHART & heAUehR
ST

(D) ARIME FHISER

AT faaradaidt Aiededr ao
faferdiemer (Sa-feetfaftem) it muet
Teud! Seifaar R H3ea T
T SR SR ?

(A) HESERMEA Heheael St fagegs

ARd A=ARN A0 SIe Tq1S
Heqq I Hehoddoll Y el

(B) TR ST GHYe qAMeTEl STae
(SFI-TRIRAT)  STTAA

(C) SATHATET TBIcsl Se ShIGT hactal
HAUR ST WAl g ATel

(D) FHAUIT FHSER d5crd 319 el
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61. Which movement is defined as the | 61. WTGATAT IASAT TVITHIG! ATEAATH
rejection of western conventions and faEde & Ui=yer U IO
the depiction of reality that is widely T e el ?
distorted for emotional effect ?

(A) SHA TEwIfe
(A) German Expressionism
(B) ®d = 9%
(B) French New Wave
: . (C) famm afe
(C) Cinema Verite
(D) Cinema Nono (D) A

62. What was the permitted Foreign 62. AT & T THITHRAE g2 T
Direct Investment (FDI) in e[ = ShATel HAlRT 2018 HeA fehet
newspapers and news periodicals gt ?

i ?
in 2018 7 (A) 100%
(A) 100%

(B) 76%
B) 76%

(C) 49%
(C) 49%

D) 26%
D) 26%

63. ETTUHT HITAT AT THTITET
63. Which is the light that is an i . . ;
HTTUT
ellipsoidal non-defining unfocussed AT AT, FTRTHT Si¥dse
Tqfenfog 1
spot ]ight ? AeYidl HAdl ¢
(A) Reflector (A) TRy
(B) Fresnel (B) Ha-d
(C) Soft light (C) TR e
(D) Scoop (D) TR
21 [P.T.O.



64.

65.

66.

67.

Which of the following is not a
Serif font ?

(A) Times New Roman
(B) Courier

(C) Cambria

(D) Calibri

On the keyboard of every computer
each character has an ‘ASCIT’ value
which stands for :

(A) Adaptable Standard Code for
Information Incharge

(B)

American Standard Code for
Information Interchange

(®)

American Stock Code for
Information Interchange

Adaptable Standard Code for
Information Input

(D)

Which is a messenger that is used
for chatting online ?

(A) KIKA
(B) IMO
(C) Agile Bits
(D) Altavista

Which one of the following
measurement does not divide a set
of observations into equal parts ?

(A) Quartiles

(B) Standard deviations
(C) Percentiles

(D) Deciles

64.

65.

66.

67.
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¢ o

Aw' w=E (TH)

JEIcTIeh!  ShIUTd]
TE 2

(A) TR = 9T
(B) #H{*R

(C) st

(D) Hicwsit

Yk IR hodhelhlala Tcih
fo=glell Teh TRl (ASCII) qodt 3T9d.

e quiEd wE ?

(A) 3TETRTA Eee hie ®HN TTHUIA
ESEIE]

(B) 3Mfeh1 €e€ hie ®R THUTH
ECREE

(C) 3MRFA Eih FIg ®R TTHAIH
ECREE |

(D) ASTRAA ESE hig B THAIM

ERRC
JEITIeh! hIV TSR AT S

AR A ?
A) T

(B) 219.TH.31.
(C) ITMEa ey
(D) eI

AaeToen 9HE 9ra farTETETst
fectedn Jaaieht shael HI UgHd Ao
S ATEr ?

(A) Fariza

(B) ¥<2 IifemwH
(C) Td=rEd

(D) <9ra
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68. Which of the following statements | 68. W¥NYA UgHdl Wumell (HerSTArs )=
is correct with respect to Research Teyld Eefieiisd] HI0a fae™ sieR
Methodology ? A ?

(A) Itis about thosg methods wh}ch (A) =7 HeHemTeh Tefaa tliﬂ?ﬁ?ﬂ =
are concerned with the collection o1 2
of data. ’

(B) It consists of those statistical (B) HW%WQ EﬁWIHIE?[’EIH{E il
techniques which are used for SOl HEARMEAE |G A1
establishing relationship HHETT Bl
between data. (C) ELNEAr= Hewid STt ueEd sTRuEr

(C) It ConSiderS the ].Ogic behind the ch{d (-qH_”qnc,-' (-“rq,;q,) {,,L'[;dr\'q,){lj' 'qm
methods we use and explains fERE TaS S,
why we use a particular method ' .
in the context of research. (D) fAswof=l sgwar AISTAHEE]

(D) It consists of those methods STARUATEAT G T AT
which are used to evaluate the =l
accuracy of the results obtained. | g9 g 1992 TEY @IS C&{rq?lqlun

69. Which popular media group known oIfgl g& FHIOMW KU HEIH T3
for having started private television wraey fHdr o faao o <= &
channel in 1992 has stake in R A ?
television distribution as well as
production ? (A) it el
(A) Zee TV (B) 2@ gu
(B) Tata Group (C) I 49
(C) Times Group (D) T&ES A
(D) Essel Group 70. TERT ENTeR G dehufare, fEses

70. The process of corporate advocacy to T 9 GhTH Sferarr=araxr gyura
inﬂuence deCiSion-making by the dIGhU¢IIHIdﬁ| Gﬁ Hrq,,g,” 9dd RIQ"“ Y|
legislators, regulatory bodies and AR ?
government officials is called as :

(A) Public Relations (A) ST

(B) Public Affairs (B) WS =T

(C) Lobbying (C) ffeET

(D) Publicity (D) wiegHt
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71.

72.

73.

74.

Which is the sampling technique
that allows every unit in the
population an equal chance of being
selected ?

(A) Convenience Sampling

(B) Snowball Sampling

(C) Stratified Random Sampling
(D) Expert Sampling

What type of Sampling technique is
it when researcher ‘selects samples
as and when s/he gets them’ in the
process of data collection ?

(A) Random

(B) Incidental
(C) Purposive
(D) Snowball

Which of the following is not
required in the reference list or
bibliography entry ?

(A) Place of publication
(B) Authors names

(C) Publisher

(D) Call number

When a reporter goes to an
interviewee with evidence of his/her
wrong doing and then asks direct
questions about that specific
incident, instead of asking general
questions, what is it called ?

(A) In-camera interview
(B) Confrontation interview
(C) Undercover interview

(D) Smoking gun interview

71.

72.

73.

74.
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ARG Yeoish HYHeN fae g
A Gl Y FOMN THAEE g5t
qETdeh! IO ?

(A) IRt TS agdt

(B) femrerehdl/sR TS Tgdl

(C) WA agfoeer TS gl
(D) o FHAEE g5t

Sieg] TYNEeh A2 FhadTd! e fHesd
a9 7for fHesel degt AT Tesl Il
THAIE UGHde S WU ?

(A) Fgfesh

(B) WEfiTR

(C) e

(D) EW-dfa

TR foRa TagEia Telierish! Haa
HEwTH ARG ?

(A) JPRM T3

(B) W@ |

(C) 9hIRTh

(D) T Uit SHHIh

Sieg] dTdiel T SeRiTell e Tl
fohal Tohcd AT QAT T3 HAHTERT
yee A foaRd 9 @@= geaiasEt 79
foared @mel gared ¥% o,
AeTed YehRIal hd o ?

(A) o€ Tieldiel Jared

(B) HevicHeh HeTerd

(C) g Hared

(D) 95 AECATHHTY HATE
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75. What are people who have lived | 75. 3 Tireh I YUl SIS SeXe= fasam
their entire lives in an internet da w1 WU 2
connected world called ? ' fo "

A ¢ ? W
(A) Generation Z &) ( )
(B) Digital Natives (B) fefSea zeonfrer (fefSea Afess)
(C) Net Citizens (C) e Tmftw (e fafes)
(D) Creative Digitals (D) TSIt fefseew (frufess fefsees)

76. The term to describe the way in | 76. SATANI &l HexaT=a Sekil YeTehil oo
which unfair key personnel have SO Hfeciak 3TTaet 01 3o Sam
control over the information that is Al T U 2
presented to the audiences : )

A) TEHRITT
(A) Gatekeeping (A) . .
(B) Agenda Setting (B)
(C) Indexing (C) Tfom
(D) Editorial (D) tfedfEa

77. Which of the following is the most | 77. <0 YRAME Halfeeh Sl SO FAI
widely read newspaper of South LG
India ?

(A) ASTATAH HARH
(A) Malayalam Manorama N
(B) Daily Thanthi ®) T
(C) Eenadu (©) =g
(D) Sakshi (D) waft

78. What is the technique by which | 78. WieRM fa=tean dedia fafa sheted
utilising a production switcher, a smerdta faferse @1 ovren g wfos
SpeCiﬁC COIOU.I' can be replaced Wlth ISATITAN d;HQf“ T Bordid 7
another image source ?

(A) HIEFATHT
(A) Cyclorama
(B) Set unit ®) %37
(C) Chroma-key (C) wr-=
(D) Flat (D) Heie
25 [P.T.O.



79.

80.

81.

82.

Which of the following does not own
a daily newspaper in India ?

(A) Trust

(B) Private Limited

(C) Government

(D) Cooperatives

Which of the following Hindi
News Channels had the highest
viewership according to BARC in
February 2019 ?

(A) Aaj Tak

(B) News 18 India

(C) Zee News

(D) India TV

Which of the following states was not
included in the famous SITE project
in India ?

(A) Karnatak

(B) Orissa

(C) Maharashtra

(D) Rajasthan

Who is the author of the landmark
1971 paper ‘Development Communi-
cation in the Agricultural Context’ ?
(A) Leela Rao

(B) Uma Joshi

(C) Nora Quebral

(D) Crispin Maslog

79.

80.

81.

82.
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A\WaY [a)

Qlen qTHA

IRATd JeIcTdehl hIvThHS
HIeTeh! AR ?

(A) o= g

(B) @il Haifed

(C) wmHA

(D) Weshl HeAl
ThgaRl 2019 ALY LML SRR
Foledl AhSaRIIaR Faltaes d&h
SV &t gaanfet ot drr ?
(A) TS ah

(B) =I5 WA sfeam

(C) = =

(D) gfean feit

IRAdia Uies ‘WEe’ A1 gehodHEd
TCHeTden! ShIoTC] JTATE HHGRT HUAT
3T gl ?

(A) wAteh

(B) 3

(C) Herrsg

(D) TsEI™

‘wfvgEren deula foem 99ma’ =
1971 ATl YfagY Seredn oy Haum
T@ HU B ?

(A) e T

(B) A1 e

(C) R el

(D) forfem HgerT
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83. Statement (A) : 83. faam (A) :
Caste discriminations are now-a- AThTA W [OAUSTHENT  STi9g
days observed only on celluloid. qrarer s fHesdl.
Statement (R) : faem™ R)
The directors of films have stopped fesue feresiart Sdl- 9= fasEmen
addressing caste distinction. B e died foo e
In the context of above statements, =T ‘%[Yqﬂ]?f-[ g %@\ YA et
which one of the following is R I forar
correct ? (A) faem (A) sfon fagm (R) &
(A) Both (A) and (R) are true, (R) faum SRR o/, faum (A) 3
is the correct explanation 9 (R) ® 9rg SRU SR
of (A) (B) faum (A) anfor faum (R) & S8
(B) Both (A) and (R) are true, (R) e aeR eTelt o faum (A) 3
is not the correct explanation fau™ (R) ¥ 9ra RO A
of (A) _ (C) faurm (A) enfor faem (R) <=t
(C) Neither (A) nor (R) is accurate faury e e
D) (A.) is false and (R) is trl.le (D) faam (A) & ﬂaﬁ% fum o W
84. What is Crowd-funded Journalism ?
. : faam (R) B o9 3118
(A) Journalists propose projects 84 ‘FET =g THEE =N T 2
line to people who then ' e « N
(c)(r)lntribute to those they deem (A) TAFR TERT STdichd Feohod AT
worthy 5 .
(B) Non-professionals running a :
daily (B) ﬁ?—wlamfamh H TR
(C) Readers contribute to page- !:quch“?ch tim;';m
making of a daily (C) THIdRTIcTRTHI IR h 0T
(D) Readers propose projects online ! : . : . o
to Journalists (D) dardeh UARNAT AR TdF
85. The ASCI code has been appended . Sl IEV”E' e . -
to which of the following : 85. 3|f i %(3|§56€i’ \”\sl ! *‘J‘f’s\f ,\*'6"“("
(A) Cable Television Networks A% s|sq|)% SEXERCININEE I IE I
Rules, 1994 Ji\{iﬁliiEEI ??(\3“% 3 .

(B) Right to Information Act, 2005 (A) I fafees Feae fram, 1994
(C) Information Technology Act, (B) qTi%FﬁEr[ AR hTT, 2005
2008 (C) wfecdt T hraaT, 2008
(D) Telecom Regulatory Authority (D) fetentd Tgeredt AAMET 3w gfean

of India Act, 1997 3R, 1997
27 [P.T.O.



86.

87.

88.

89.

Which is the indicator to ascertain
‘Quality of life’ of population ?
(A) DQIL

(B) HQLI

(C) DQLI

(D) PQLI

From case studies of communities
adopting or rejecting technological
innovations, Everett Rogers found
that diffusion took place in five
stages. Which of the following stages
occurs first ?

(A) Persuation stage

(B) Knowledge stage

(C) Implementation stage

(D) Formal education stage

Why is it important for reporters to
talk to sources ?

(A) Sources help publish a
reporter’s story

Sources by newspapers
Sources are the people that
help edit and revise copy
Sources give a story balance by
offering different perspectives
If the following activities are
undertaken while arranging a press
conference, which of the following is
the correct sequence ?

(B)
(®)

(D)

(1) share a write up about the
event and organisation,
(1i) answering media persons’

questions,
(ziz) briefing by an authority,
(tv) welcome address by PRO,
(v) send a press release,
(vi) send an invitation
(A) (vD), @), Gv), @), (1), (v)
B) @), (i), @), ), @), (v)
©) (o), @), (o), Gv), i), (v)
D) (i), @), Gv), (v), G1), (G7)

86.

87.

88.

89.

JUN -19219/11—C

fafere SHEEAd  Saame gaeear’
I GheU ™ HIYT HIOATEES JercTehl
SV HHESHET ST Bl ?

(A) S1.9.379.Ta.

(B) T9.F.TA.ME.

(©) &1,

(D) @ T3

qifser e @R o fear
TR TG S ST hed
Tee UsH At o qregd feat &t
YT TER YT TS Bl TR
DO T YYH Il ?

(A) 999 oAl T

(B) JMUTK=T <ot

(C) STHASSTUI=ET 20T

(D) 2fro=nfie fereromen <om

IIAed WIArei Sieul STEvdesh i
e ?

(A) Ed S ST U0 Hd hdrd
(B) ®d aquH9A faeha Sam

(C) Eid ST HateH 31T Jeted A

Hed h{did

(D) & ST fafae ey | <amges
A THAe qEdr Il

TARR qRES SIS FoAEEl geia

hTH ShE] AN ST = AT %A

e ?

() ST o LT ifaw] et wifed
afﬁ;

(ii) TARRE YA S,

(i) A= faeq,

(fv) SEYS TSR WU Ao,

(v) JFEGHTTI® dreaul,

(vi) TTH=OT UrSeTT

(A) (vD), @), Go), (Gw), (1), (v)

B) @), (i), (), Gv), @ir), (v)

(C) (), @), (1), (v), (1), (v)

D) (), @), Gv), (v), (i), (L)
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90.

91.

92.

93.

Which of the following is not a major
distinguishing characteristic of
India soap operas ?

(A) Preference to outdoor shoots
(B) Women centric stories

(C) Loud and melodramatic
narrative treatment

Storyline that has excessive
marital and familial conflicts
What does ‘Bluetooth’ technology
allow ?

(A) Landline phone to mobile phone
communication

Signal transmission on mobile
phones only

Wireless communication
between equipments

Satellite television communi-
cation

When News stories where
paragraphs are written in order of
descending importance, and then
using a transitional paragraph,
introduces the rest of the story
chronologically, what is the style
called ?

(A) Inverted pyramid style

(B) Chronological style

(C) Hour glass style

(D) News feature style

How long is copyright protection
valid for a literary work following
the death of the author ?

(A) 50 years

(B) 40 years

(C) Forever

(D) 60 years

(D)

(B)

()

(D)

90.

91.

92.

93.

JUN - 19219/11—C
JEIGTUsh! 1T R ffeh HRTaT 6

qifeTeh™ Teh Hetd™ oJawogeh  al&iul

T ?

(A) sy feasitatome foer Som
B

(B) gl HUHh

(C) W&k AU HiEHiche HeMHh

(D) HUFHIA STEUNT Hifeh 9 Jafeah

TR AR FHee
‘SIeA’ TATEIAT AR YEAdeh] T
I AR ?
(A) T aTfor yeoreAE T S
(B) W HOIEAAHES B WO
(C) STHTOMEEY B qRfeRfEd ST

(D) ITE feAamol o

SIAHTET IS Falld HgwaTeal eI

ST S el fi=eaTd SISu Heal

OievareT arqen fafguaren TR &
Rordid 7

(A) 3@ o el

(B) HTeshH et

(C) dega wgdes el

(D) gxierE et

R JIAM ATAT ceTeeddl
@ gk fohdt o8 @] T ?
(A) 50 @

(B) 40 =8

(C) eHrenfiT

(D) 60 =S
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94.

95.

96.

97.

What is it called if an organisation

allows people for a day to see the

work being carried out by them ?

(A) Educational Visit

(B) Open House

(C) Visitors Day

(D) Public Relations Day

Which of the following is not a

method for preparing Advertisement

Budgets ?

(A) Fixed percentage of sales

(B) Comparable to the competition

(C) The maximum amount possible

(D) The minimum amount

One of these is a reason for faulty

listening :

(A) Listening with images of
stereotypes

(B) Focussed attention

(C) Questions to a minimum

(D) Listening with mind

Which of the following is not true

of Advertising and Marketing ?

(A) Marketing is a long-term
process while advertising is
short-term

(B) Advertising is part of marketing
communication

(C) Advertising is about promotion
while marketing is also about
place, price and product

(D) Advertising costs more than

marketing

94.

95.

96.

97.
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T URUATIS! Gell Saell T AT i

Wordd 7

(A) SiEfrEs e

(B) 397 B9

(C) a1 fe

(D) SETw

STfeXrdiat srefdded TR HIvATH

Eefiedeh] Haell UgHd A& 7

(A) fomr=t Hf=@a zehard

(B) &Rl g w0

(C) Sa& IR da@l STfYd TS

(D) wHA HH TR TS

JEITdsh! HITA TR SE0TE SR

R ?

(A) FoERY Jfaw SIBaiEgHR  ST0H
T

(B) <& ehfgd w0l

(C) wHa & = (Fmfor gmor)

(D) 7 UhO

TeeTyeh! H3el SHedrd SToT forqurTetTer

I > ?

(A) fouum <™ @ Sfea Seat
HIBES TEd

(B) Sfeqd @1 favum SR 9 31

(C) et JeRMEE! g w5 foraum
T m, fema onfr Seaee =
Tafa 3T

(D) wnfetrdta faqumTen smed @< 2t
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98. What is the most common use of | 98. Hivia Hifedr T TR U] 3T
‘SOCial media, analytiCS ? HoiHlHl'quI Ch?”{‘“dﬁl T{ﬁ?—h ?
(A) For increasing profits (A) T SRS
(B) To increase customer base . - o
© 1 1 N (B) UEsh HEAT dRIHUITHIC
n order to support marketin - - N
: . ° (C) fa9uE Ao UrgehEe SefauaEe!
and customer service activities ~ . .
(D) To win an election (D) THEETH S PRI
99. The following are the characteristics 99. wfecdifefseq FaTemst ®rel Sfersed
of Information Society : et featet sed il wivrd
(i) Organisation of society based iy Aifeditafted THeE (SRRAYH
on science, rationality and e Y wfafatac s ?
reflexivity. () fagm, faasar sufor faqamER
(z1) Labour market needing less STeTRE TSI
education and more physical
. Py (i) TR St femaen YR
effort. : i
(ziz) Media and information products . . .
dominated by culture. () = LA T HlS [
Which is accurate representation of STHORT JH1e
the Information Society ? (A) Hei faem™ ()
(A) Only () (B) el (i) S (31)
(B) () and (i) (C) W= (i) o (iid)
(D) (@) and (i7) 100. THFRATsS, ‘Siden’ =1 T ¥ FE
100. In journalism, what do you
. Fefeny B ?
understand by Yjunkets’ ? =
(A) Free sponsored trips (A) T
(B) Fake news (B) & el
(C) Kill a story (C) w7 BT
(D) Negative feedback (D) -hRIcHS Ffade
31 [P.T.O.
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ROUGH WORK
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